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S} PUNJAB EXAMINATION COMMISSION EXAMINATION
2015, GRADE 8

MATH PART - B (Subjective Type)
Part-A = 48 Marks, Part-B =52 Marks, Total Marks = 100
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Part-B (Open Ended Questions) Time Allowed: 1 hour 40 minutes
Instructions: e (y
1. A question can consist of two or more parts.
T i L
2. Please use blank space given below the each question to write the answer.
Q/JL&AAL{_;_._,M/J&L)G/&;QLJv/‘-‘
3. No additional page will be given to write.
(3 marks)
33. 1fU={1,2,3,4,5,6,7,8,9,10}, A={0,1,2,3}, B={2,4,6} and C={1,2,3,5,7} then
find
(91 C={1,2,357}.,B={2,4,6}-A={0,1,2,3}.U ={1,2,3,4,5,6, 7,8,9,10}./1
g/
(@ AuB
(b) (AUB) (3 marks)
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(c) (i) cuc (4 marks)

(i) c~C’

(2marks)
34.(a) If the price of 7 pencils is Rs. 28. How many pencils can be bought
with Rs. 207

I o L U 20T e 28 = F S UM
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(b) In hostel 10 girls has a ration for 20 days. If 5 girls leave the hostel,
for how many days the ration is sufficient.

T8 S~ VWUTY5 sy S3e20L L U 10— = |
?Jné(“LLu])J__fU}

(3 marks)

(c) If 15 laborers earn Rs. 20250 in 9 days. How much amount will 10
laborers earn in 12 days?

&2 U312 =107 LS U U95942,20250.55—15 /1
Iy (g

(5 marks)

35. Sum of two numbers is 40 and difference is 18.
..q_ISJ/—')/;l40.J;~:jK)IAJl»
a. Write the given statement in the form of equations

ufyuy‘ﬁ-'y‘fuiuuf@g,,u-/u

(2 marks)
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b. Solve the simultaneous linear equations formed in part (a). (6 marks)
S = e KT st A8 — L S (8)—=—s

¢) Check the solution found in part (b)./Urd——izZ &= () (2 Marks)

36.

a) State the Pythagoras theorem. B EPRSy d (2 marks)
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b) In the given triangle, find the value of x (4 marks)

S 2§ x n 2 S Ue S U F 6t ek

5cm

12cm

¢) Inatriangle ABC, right angled at C, m AB = 15cm and m BC = 12cm.
What is the length of CA ? (4 marks)

/=348 CA 7 mBC =12cm, mAB = 15cm sin, CH— ks s

—

37.(a) Find square root of 1225 u"/()b"/,t,)( 1225 (3 marks)
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(2 marks)
(b)  Number of books in 5 schools’ libraries are 100, 200, 300, 400 and

500. Compute median of the given data

s o5& 500.51400.30020010051.5S Uil U UL LIS S5
8 r}-”

(c) Find the mean of the following frequency table

QL= b Sty £ st s

(5 numbers)

13

18

23

X

18

21

23

Page 6 of 6


http://www.result.pk

